=LPDB

3UDFRZQLN 5RIN&DG  GU &XNDVLN %HDWD 7\J

o
™
% AN
E 3HGHXIRIRILD UZ GU aXNDVIN %HDID
= 3/ 32=5&
N =DICFLD Z IRUPLH JGDIQHI
AN AN
8 3HGHXIRIRID UZ GU aXNDVIN %HDID 6HPLQDUXP G\SIRPRZH GU aXNDVIN
QD: 3/ 73 & %HDID 37/ 32=5 :
T . ) ~ F1ZDUIHN JDICFLD IDN Z =DICFLD Z IRUPLH JGDIQHI
GURGC =DICFID Z IRUPLH TGDIQHI
= AN AN
L 3HGHXIRIRJILD ]JDZRGX SHGDJIRID 3HGHXIRIRJILD ]JDZRGX SHGDJIRJID
a VSHFIDIQHJR ZigF]DIaFHIR Z GU VSHFIDIQHJR ZigF]DIgFHIR UZ GU
N AXNDVIN %HDID 363 = : AXNDVIN %HDID = 363 "
T JDICFID Z VAVIHPLH ]GDIQ\P & )
‘ ‘ =DICFLD Z W\ELH JGDIQ\P
= 7N\J
< 3RGVIDZ\ G\GDNI\NL GU &XNDVIN %HDID
Q : 363 " =
L =DICFLD Z W\ELH JGDIQ\P
AN
a GHPLQDUXP PDJIVIHIVNIH GU
o _UXV]HZVND $IHNVDQGUD GU aXNDVIN
% %HDID SURIQDG]Z -XNID "DQHI 3
> 6 (3:-: 36 73](7 :
=DICFLD Z IRUPLH JGDIQHI
AN
- 3HGHXIRIRID UZ GU AXNDVIN %HDID

35 32=5&
=DICFLD Z W\ELH JGDIQ\P




